Government of Jammu & Kashmir (UT)

OFFICE OF THE CONSERVATOR OF FORESTS JAMMU WEST CIRCLE, RAJOURI

Sub: Work Programme of Compensatory Afforestation w r t Forest Clearance for

"Construction of road from Kotli to Shikari" in Mahore forest Division.

Ref: DFO Mahore letter No. DFO/MFD/2166 Dated. 11-02-2021.

ORDER

The work proposal for Compensatory Afforestation to be done in lieu of diversion of 0.5975 Hactare of forest land in Mahore Forest Division for Construction of road from Kotli to Shikari under PMGSY to the tune of Rs. 95155.50/- prepared and submitted by the Divisional Forest Officer, Mahore Forest Division, is hereby Approved / Sanctioned, as per the details given below:-

Proposal No.	Location of proposed area	Area involved for diversion	Area of CA Plan	Canopy Density	Spp. To be planted
FP/JK/Road/ /121072/2021		0.5975 Ha	1.2 Ha	0.2	Indigenous species

The Approval /Sanction is subject to the following conditions:-

1. All the terms and conditions as per the provisions of Forest Conservation Act 1980 w.r.t Compensatory Afforestation are complied with

2. That the existing Forest Tariff Rate schedule shall be applicable.

3. That the DFO Mahore Division shall be the implementing agency for executing the CA Plan.

(B. Mohandaas), IFS Conservator of Forests, Jammu West Circle,

∖Rajouri

No: CFW-RIFC4/3764-67 Dated: 22-02-2021

Copy Submitted:-

1. Prl. Chief Conservator of Forest (HOFF) J&K Jammu for favour of information.

2. The Addl. Pr. Chief Conservator of Forest, Nodal Officer (FCA) J&K U.T for Information

3. The Chief Conservator of Forests, Jammu for favour of information.

4. The Divisional Forest Officer Mahore for information and fallow up action.



TelephoneNo.01962-261992 Email –cfwestrajouri@gmail.com

Government of Jammu & Kashmir (UT) OFFICE OF THE CONSERVATOR OF FORESTS JAMMU WEST CIRCLE, RAJOURI

The Chief Conservator of Forests, Jammu

No: CFW-R/ 3661-63.
Dated: 11-02-2021

Subject:

า

ì

Request for approval of Compensatory Afforestation Scheme for

proposal No. FP/JK/Road/121072/2021 for Kotli to Shikari road

under PMGSYin Parivesh Portal.

Refer:

DFO Mahore letter No. DFO/MFD/2166 Dated. 11-02-2021.

Kindly find enclosed herewith the letter received from Divisional Forest Officer Mahore vide his letter No. DFO/MFD/2166 Dated. 11-02-2021 (Copy enclosed) has reported that the Proposal for construction of road alignment for Kotli to Shikari road was uploaded on Parivesh. wherein 0.5975 Ha of forest land is involved. A Proposal for Compensatory Afforestation (CA) over an area of 1.2 Ha which amounts to the tune of Rs. 95155.80/- is also enclosed.

Proposal No.	proposed area	Area involved for diversion	Area of CA Plan	Canopy Density	Spp. To be planted
FP/JK/Road/121072/2021	85/GG	0.5975Ha	1.2 Ha	0.2	Chir, Sissoo, Banj, dedonia, Populus, Ulmus etc.

It is as such requested that, kindly approve the Compensatory Afforestation of said proposal so that the case may be uploaded on Parivesh portal please. Hence submitted for favour of information.

Yours faithfully,

(B. Mohandaas), IFS Conservator of Forests, Jammu West Circle,

Rajouri

Copy Submitted:-

 The Addl. Pr. Chief Conservator of Forest, Nodal Officer (FCA) J&K U.T for Information please.

2. The Divisional Forest Officer Mahore for information and fallow up action

Scanned with CamScanner



GOVERNMENT OF JAMMU AND KASHMIR (UT) OFFICE OF THE DIVISIONAL FOREST OFFICER, MAHORE FOREST DIVISION, HQ DHARMARI



(Email - dfomahors@gmail.com)

The Conservator of Forests, West Circle Rajouri

No: DFO/MFD/ 2166

Dated: 1/ /02/2021

Sub: Request for approval of Compensatory Afforestation Scheme for proposal No. FP/JK/ROAD/121072/2021 for Construction of Road from Kotil to Shikari under PMGSY in J&K UT in Parvish Portal.

Sir.

In reference to the subject cited above, it is requested to your goodself to kindly provide Approval for proposal of compensatory afforestation scheme of proposal No. FP/JK/ROAD/121072/2021 for Construction of Road from Kotli to Shikarl under PMGSY of Block Banna & Beat Banna-II in Mahore Range for uploading in Parivesh portal for further processing of the case.

Hence submitted for favour of information please.

Proposal No.	Location of proposed area	Area involved for diversion	Area of CA Plan	Crop Density	Spp. to be planted.
FP/JK/ROAD/121072/2021	85/GG	0.5975 Ha	1.2 Ha	0.4	Chir, Sissoo, Banj, Dedonia, Populus, Ulmus Etc.

Yours faithfully,

Mohinder Singh (SFS)
Divisional Forest Officer
Mahore Forest Division
Dharmari

Scanned with CamScanner

pensatory Afforestation Scheme in compartment 85/GG in respect of FCA case titled Kollito Shikari
(Under PMGSY)

(Onder PMGS Y)							
S. No.	Particular	Location	Aren (in Ha)	Physical	Unit	Rate	Financial
- 1	Plantation by pit planting of poly bagged raised plants of various species having fuel and fodder value			1200	Nos	29.34	35208
2	Maintenance for ten year			0			
i	2nd year BUC @ 15%			240	Nos	29.34	7041.6
ii	3rd Year BUC @ 10%			180	Nos	29.34	5281.2
iii	4th Year BUC @ 10%		-	120	Nos	29.34	3520.8
iv	Fencing repair for 5th year	85/GG	GG 1.2	300	Rft	16.74	5022
v	Fencing repair for 6th year	1		300	Rft	16.74	5022
vì	Fencing repair for 7th year			300	Rft	16.74	5022
vii	Fencing repair for 8th year	1		300	Rft	16.74	5022
viii	Fencing repair for 9th year			300	Rft	16.74	5022
ix	Fencing repair for 10th year			300	Rft	16.74	5022
3	Plant Production			1740	Rft	8.03	13972.2
							95155.80

Divisional Forest Officer fficer Maharen gerst Divisional Forest Division HQ Plantarimari

Range Officer Mahore Forest Range HQ Dharmari

Jammu West Circle
Hqtr Rajouri